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QUESTION 1

At which layer of the OSI model is the Rapid Spanning Tree protocol used to prevent switching loops? 

A. Physical 

B. Network 

C. Data Link 

D. Transport 

Correct Answer: C 

 

QUESTION 2

Which Ethernet frame forwarding method works best when the outbound ports run at the same speed as the inbound
port? 

A. Store-and-forward 

B. Fragment-free 

C. Unicast 

D. Cut-through 

Correct Answer: D 

 

QUESTION 3

A network administrator has a stack of four Dell EMC Networking S4800 Series switches. Each stack unit is configured
with a different priority. Which switch will be elected as the management device? 

A. Switch with priority 0 

B. Switch with priority 1 

C. Switch with priority 14 

D. Switch with priority 21 

Correct Answer: B 

 

QUESTION 4

What accurately describes the Simple Network Time Protocol (SNTP)? 

A. Time synchronization algorithms are more complex and account for clock drift. 
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B. Client makes sudden changes in time to keep synchronized. 

C. Client synchronizes among a set of distributed time servers. 

D. Implemented on a Dell EMC Network OS 9 and OS 10. 

Correct Answer: D 

 

QUESTION 5

Router A is directly connected to Router B over an Ethernet link. The local interface address for the Router A Fo0/48
interface is 144.254.32.2/24. Which routing table entry is visible on Router A? 

A. 144.254.0.0/16 

B. 144.254.0.0/24 

C. 144.254.32.0/24 

D. 144.254.32.2/24 

Correct Answer: C 
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